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‘And he shall give’; indicating detached, but they are connected

OVERVIEW

The 109 states,' regarding gathering the water to be mixed with the 7% 779
ashes, °72 X o°°1 o°n 1%¥ 0. We derive from the words “75 X 2»n o°n that the
vessel in which the 01 0'» is stored must be immersed in the spring to gather the
water (but we do not draw the water [with another vessel] and pour it into the
"53).This is the meaning of "33 12 XY, the waters (when they go into the
vessel) are attached to the spring. The word "1n1"' however indicates that the water
is put (poured) into the *22; indicating that they are detached from the v before
they enter the *22. There is a dispute between >"w9 and md01N as to how to explain
this ‘contradiction’ and its resolution.
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The explanation of the contradiction is that 'in1Y' indicates that the 77N

considers these waters in the *22 to be "2 (detached from the spring) -
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This means that they are considered w170 in regards to receiving =, these

waters in the °%> will receive X»v even though they are attached to the py» and
should be exempt from receiving nxmw. This is the ‘contradiction’.

mMooIN continues to explain what X217 is teaching us by pointing out this contradiction:
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So now X219 brings proof that (just like) 79077 3% there is no 7pPwn regarding

wTPn to spare it from XMW N2, and so too by 72170 the 3337 made a higher
standard that planting X%V 72170 does not make it Mv.

U',o0 (npm) 7272,
* The term w1 is (usually) used by n2oIn to indicate that the explanation is not the way we may have thought.
Here mooin is negating >"wo.
3 A spring is not susceptible to receive ixmw. In fact it is 97vn that which is ®av (if it is immersed in it). The water in
the >2> which is immersed in the spring ought not to be 8xmW 22pn (see footnote # 4), and nevertheless the 77N
writes 101 to teach us that it is IR@™IW Hapn.
* apwa (literally kissing) refers to two bodies of water that are touching (kissing) each other. In our case the water in
the "3 is kissing the water of the yyn. Generally mpwi provides that the two bodies are like one and so in our case
just as the Pyn is not IR 22pn the same should apply to the water in the *23, nevertheless the 77 teaches that
7Pw is not effective here and the *252w 0’1 can be 7xmw Hapn.
> See “Thinking it over’ # 2.
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ND0IN comments on °"YID.
7:‘,711'\‘1 60‘1\731‘,711 VI

However, s'»'"'w9 explanation is awkward.

SUMMARY

The water in the °75 even though it is 7217 to the 1°¥» (and should not be 52apn
TR0 since there is 7pwi to the Pyn), nevertheless are considered 7w17n (since the
770 writes 1037) and are R0 92apn.

THINKING IT OVER
1. According to m»on does the *95 need to be immersed in the 1°¥» (to fill it with
water), or can the water be poured into the 72 (from the Pyn)?

2. Mmoo writes that 7n7 1 wIpaR apwa 1. Firstly the (779) nXvn " are not
WP, but 7. Secondly the X na stated previously that 7%y» 1327 T2y, and X2
responded X1°1n °n1 13X AKX (seemingly that it is merely a 731277 77¥1), how can NOIN
write that 7107 10 wpA° mpwa pr72!

® See xanw 71"7 *"w1 and XOR "7 (on X,79). The contradiction according to *"wA is a factual one; either it is w170 or
112mn. We resolve this contradiction by saying that n"nn it can be w170, however the 051 made a 79vn that it
should be 211, and similarly by mm17n there is the 7%y that 7v°71 does not remove the 770,
7 The difficulties may include that the 75¥» by the o*» has nothing to do with Xm0 (as the other n>¥» discussed in
the Xn3); additionally the expression 172°1 11211 R 1% w70 RA9K is belter understood according to nvon than
according to >"wM9.
¥ See Hxmw 127,
? See footnote # 5.
1% See Hxmw 727
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